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Directions : There are in all 25 questions in this question paper. All questions are
compulsory.

(i) vt ' FrefRa sie 3% @ sifed 2|
Marks ailoted to the questions are mentioned against them.

(jii) TP T P AL Ufed eI FHfd IR alfore|
Read each questlon carefully and answer to the point.

(iv) e TReT 1 SEfaemed w2 &1 39 Y & Geid WUS & 3T A 9R faded {dd
| T Riovew 3 FoR et 1 forRau | e wivea 2 9 7 o e 3o v
gl
Question No. 1 is multiple choice question. Four options are given in
answer of each part of this question. Write correct option in YOUF answer
book. Question No. 2 to 7 are definite answer type questions.

(v) WoT §T 8 ¥ 13 T Wedid o1 TR THINHT 50 SI&! H alfofe |
Question No. 8 to 13 are to be answered in about 50 words each.

(vi) 2T | 14 17 T TP B TR ATHT 100 Tl H Qifor|
Question No. 14 to 17 are to be answered in about 100 words each.

(vil) T2 |1 18 I 24 T Tedidh B TR AIHT 200 &l H Qiforel
Question No. 18 to 24 are to be answered in about 200 words each.

(viii) T2 Te=aT 25 Ha/Ed 3nenRa wed &l
Question No. 25 is Case/Source based guestion.

(ix) =9 9-07 § 909 R SIS ey Te1 & aenf s wet 8§ 3iaRks fabed yer -
T mar 21 ¥ vl #§ o v fdeed o 8§ 3R At
There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the given
choices in such questions.
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(i)  TImeT (i) e
(i) 3IRERoT (iv) Tass
Maximum incentive giving function of management of employes is:
(i) Staffing (ii) Organisation
(li)  Motivation (iv)  Pianning
g A o5 cava Rigra fverss gy e mam 2
() &R BAa (i)  ©% s&] AR
(i) Tl PleeR (iv) ORR gax
'Principle of Harmony, not discord’ is given by whom?
(i) Henry Fayol (i) FW Taylor
(iii)  Philip Kotler (iv)  Peter Drucker
SIS AaTaRT o freAfeRaa 3 & 219 a1 saresor ¥
(i)  SuHRHT IReoT 3oy (i)  URAR B TR
(i) <97 T Efqe (iv)  srferawen & g1 & gl
Which of the following is an example of social environment?
(i) Consumer Protection Act (i) Composition of family
(i)  The constitution of (iv)  Money supply in the economy
the country
e wfeear § ffea &:
(i) & & faus= (i) S P BT FYEIBROT
(i)  3uYH TPl B HRf (iv) 3P TG
|far ST
Organising process involves:
(i) Division of work (i) Grouping of identical work
(i)  Assigning work to (iv)  All of the above
appropriate persons
BHIIRAT & faer § aftafe 2
(i)  ufSremo ‘ (i)  garfe
(i)  RIFTRT (iv) IWRE I
Development of employees involves:
) Training (i) Promotion
(i)  Transfer (iv)  All of the above
[2]
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(i) @ (i) fat=m
(i) o (iv) 3IRE TN
Financial Manager takes decision as to
(i) Dividend (ii) Investment
(i) Financial (iv) Al of the above
(B) rafer & 1
(i)  oF o safd (i) AP
(i) 3ars (iv) ofees
Labelling is:
(i) Waste of money iRy Necessary
iii) Compulsory (iv) Voluntary
(37) fosmoe & ' 1
(i) ot (i) &9 o said
(i)  3FTIeT® (iv) IR H PrE 7
Advertising is:
(i) Investment (i) Wastage of money
iii) Unnecessary (iv)  None of the above

Direction :

(i)

(if)

(i)

U9 TET-1 %mﬁ@éﬁ,aﬁaﬁﬁm(m T BROT (R) &

In next two parts of Question No. -1, there are two statements labelled
as Assertion (A) and Reason (R). From the fellowing options (i), (i),
(iii) and (iv), select their correct answer,

A T Raﬁﬂa“r%“am&/xﬁeﬁmm%‘i

Both A and R are correct and R is the correct explanation of A.

A TR Raﬁq‘fﬂé‘r%‘%—g’&x\ﬁ'ﬂé‘.mﬁm%l

Both A and R are correct but R is not the correct explanation of A.

A STET & TR R T &

A is correct but R is incorrect,

(iv) AT R 4T o7 &
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Both A and R are incorrect.
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siftr®e (A) : e wdend 2

BRI (R) : FAeH vt & @i fawmt qen seem % 99 TR ) gied e
gl 1
Assertion (A) : Planning is pervasive.

Reason (R) : Planning is required at all levels and in all departments of the
organisation.

ARG (A) : 0T BRE HEET BT HeTeT I9ANT HHF PR B

PIROT (R) : 07 37 a9 Roasit ik sy a6t Rrders 27 2 =it wrearens medt
Y T B & fore B & 1

Assertion (A) : Controlling function enable efficient use of resources.

Reason (R) : Controlling provides direction to all activities and efforts for

achieving organisational goals.

il 1 AR A AiIaT TR B gaiemiad o3a1 &1 98 U9 T & o7 377 ?

1

Internal source of recruitment demotivates the existing employees. Is this

statement true or false?

feiaa aweeraTe= @ &1 wonferat @ &2 1
What are the two methods of written communication?

0T geeer o fopet weR < e &7 1
Controlling is related to which level of management?

Ysh aTeTR & & WS T &2 1
What are the two segments of capital market?

faqUr # 3cTe B TR &7 & e R T 2 o speerar 7 1
What is called in marketing to give special name to a product?

ITHITHT BT DI T JTIBR ITHRHT BT ICE B STHHRT & F graferg 27 1

Which right of consumer is related to providing information about the product to

the consumer?
ye~Y &I oS af g folRee) 2

Write any two characteristics of management.

fad=saur o Hew o1 ae A @ & fig e

(N}

Write any two points showing the importance of decentraiisation.
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HREROT X FT SRy &9 2
What is meant by motivation?
Explain the meaning of personal selling.
mwﬁm@msﬂ%ﬁm%aﬁﬁamﬁﬁmﬁﬁmmaﬁw%ﬁa@i 2
Write any two reliefs available to consumers under Consumer Protection Act,
3T & B A FeRaAT B TR F gA 2
State the two responsibilities of consumer.
e &5 3ewdl Bl HEY § THEEy|
Explain the objectives of management in brief.
AU AT I 377 707 Ty o 3
What do you mean Dy business environment?

HAGT / OR
Explain any three dimensions of business environment.
Wmmq’:f:j—?"ﬂﬁ?ﬁ'ﬁ”qr
State the importance of control in a business institution.
o wsifen Frvtal &1 s oy amey e R 3
Write the factors affecting Capital Budgeting Decisions.

3AU4T / OR
o vee @ T g %émmmm&ﬁas%mamsﬁl

What is meant by 'Financial Management'? State the primary objective of Financial

N

(9]

w

Management.
s o 818 dte SsaTs ey 5
Write any five features of planning.
ST & P & W0 F 6T 5 HEed B e S| 5
Explain the importance of organising as a function of management.
uf¥tereT &) fafrg AR @y gaBe| ‘ 5
State the various methods of training. |

3AYAT / OR
g o &7 $99% A8 Bl W F qeamgo

What is staffing? Explain in brief the importance of it.
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Y9 I TS 1 A &7 e e 3 Wt T aof i

What do you mean by leadership? Explain the types of leadership styles.
3udal / OR

forder ot @ A €° e & Brfer @ FaT Feed &? o il

What is the meaning of direction? What is the importance of direction in the

an

management? Explain.
o Fris @ 27 st yaee 3 5% TR @ fade SIS
What is financial planning? Discuss its importance in financia! managment.
A P T S TN I €7 =% Bl &l U it
What are the objectives of establishing SEBI. Explain its functions.

: 3ar / OR
<er farafor &1 ufkem &ifsel TG ! 1 U P
Define stock exchange. Explain its functions.
Wﬁﬁ%%w%?mmﬁmmi 5
What is physical distribution in marketing? Describe the components of it.

3aar/OR

T & 3T & GEE &2 Faa W B FEest|
What do you mean by promotion? Describe the promotion miX.
Read the following passage carefully and answer the questions given below-
e T T 3 e e BT 31 B fena| B qX1 B B & I et
¥ Uep SiEH T ST F 3 316 HEATRE! B ges | e IeaTaddl & 1L,
mﬁmﬁr@ﬁ-@éWﬁ%ﬂﬁﬁ%ﬁ&ﬂ?@ﬁaﬁﬂﬁ?ﬁﬁ%ﬁﬁﬁﬁﬁ%%ﬂ
gifara foeanl Ral ¥ TG B TES! 3 35 st BT 10% BT & I 3K &
ﬂﬁ,ﬁ@ﬁ%@i%%@ﬂﬁ%ﬂ%ﬁﬁﬁ%@t\aﬁﬂw%m%%ﬁ
3 L 3 R & 3fiRes 6e Hd B B B sﬂa‘vaaﬁﬁat%wa’ééaﬁa?%@ﬂ
SreaTE & &1 dTal Tl m%ﬁaﬁwwﬁﬁaﬁzﬁﬁmmﬁw
s coferfeit 5 we e 3 Bk 4 o e waRar 3 5t g < &l

Rita did a course in fashion designing after graduation. She opened a showroom

(03]

(@]]

in Delhi after completing the course. She employed eight employees in the
showroom. For greater productivity, she divided work into smaller part and
every employee is trained for the work assigned to him. Sales staff were allowed
to give 10% discount to customers and other buyers, Rita retained the authority
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to decide on any discount beyond this. In early days of the business, Rita asked
employees to work extra hours. In return, promised to give them special incentive
within a year. She gave cash bonus to employees when the business did well.
However, she is inclined towards women employees in resolving disputes among

employees,

() = 4 {6 vemer & Ragrat o qrem R = < 27 FE auiE Hifswi 2
Whét management principles are being followed in business? Explain them.

(%) 3 g1 e & o5 R o1 seeier R =77 <7 2 1
Which principle of management is being violated by Rita?

(47) @m%w%ﬁﬁﬁﬁﬁwﬁ:aﬁqﬁaﬁmésﬁmw%aﬁ?m
G)itef 2
Which two principles of management are mainly helpful in expanding Rita's

business? Mention.

%k %k %k %k k
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